
 

KERN & Sohn GmbH 
Ziegelei 1 

72336 Balingen-Frommern 

Germany 

 +0049-[0]7433-9933-0 

 +0049-[0]7433-9933-149 

 info@kern-sohn.com 

 

Installation instructions 
Tripods 
 
 

KERN DS, CDS 
           
Type 

TDS-A04-B 
TDS-A05-B 

Version 1.0 
2025-03 
GB 
 

 
 

 
 

   TDS-A04-B_TDS-A05-B-IA-e-2510  



TDS-A04-B_TDS-A05-B-IA-e-2510   2 

  

 

GB 
Tripods 
Version 1.0 2025-03 

Installation instructions 
  

 
Table of contents 

1 Technical data .................................................................................................... 3 
1.1 Dimensions ...........................................................................................................................3 

2 Scope of delivery ............................................................................................... 6 

3 Installation .......................................................................................................... 7 

4 Appendix ........................................................................................................... 10 
 
  



3   TDS-A04-B_TDS-A05-B-IA-e-2510 

1 Technical data 

KERN TDS-A04-B TDS-A05-B 

Tripod height (mm) 330 600 

1.1 Dimensions 

• Dimensions in mm 

• Drawings on the next page 

• Drawing of the adapter plate at the end of the document 

Models with 330 mm Models with 600 mm 

  

  



TDS-A04-B_TDS-A05-B-IA-e-2510   4 

Models with 330 mm: 

 
  



5   TDS-A04-B_TDS-A05-B-IA-e-2510 

Models with 600 mm: 

 



TDS-A04-B_TDS-A05-B-IA-e-2510   6 

2 Scope of delivery 

 

 

 

A B C 

Tripod base Tripod tube Adapter 

1 x 1 x 1 x 

 
  

S1 S2 S3 

M6 x 16 Spring washer Washer 

4 x 4 x 4 x 

   

S4 S5 S6 

M6 x 12 M6 x 10 M5 x 16 

1 x 2 x 3 x 

  

 

S7 S8 S9 

M4 x 10 M4 x 6 Adapter plate 

4 x 2 x 1 x 



7   TDS-A04-B_TDS-A05-B-IA-e-2510 

3 Installation 

Attach the stand base to the platform: 

1. Position the stand base (A) centrally over the holes on the side of the platform. 

2. First place the spring washer (S2) and then the washer (S3) on the screw (S1)  
(4 x). 

3. Tighten the tripod base. 

Make sure that you do not pinch or damage any cables. 

 

 

  



TDS-A04-B_TDS-A05-B-IA-e-2510   8 

Attach the tripod tube to the tripod base: 

4. Unscrew screws S4 and S5 from the stand tube. 

5. Insert the tripod tube (B) into the tripod base. Ensure that the hole in the stand 
tube matches the hole S4. 

6. Screw in screws S5 again and fix the stand tube with screw S4. 

 

  



9   TDS-A04-B_TDS-A05-B-IA-e-2510 

Attach the display unit to the stand tube: 

7. Insert the adapter (C) into the stand tube (B) and fasten with the screws S6. 

8. Attach the adapter plate S9 to the holder for the display unit using the screws 
S7. 

 

9. Fasten the display unit with the S8 screws in the X holes. 

 
  



TDS-A04-B_TDS-A05-B-IA-e-2510   10 

4 Appendix 

 
 

 



SAUTER GmbH
Ziegelei 1
D - 72336 Balingen
www.sauter.eu
email: info@sauter.eu

Adapterblech 
Benennung:

Werkstoff:

DatumName

Allgemeintoleranzen

ISO 2768-mK

Geprüft

Gezeichnet

Rev. Änderung Datum

Modell:

Blattformat

1:1Maßstab:

Gewicht: kg

Revision:Maßeinheit: mm

-1.0 0.22

1.4301 (X5CrNi18-10)

A2 BLATT 1 VON 1

12.02.2025E.Steier

S.Hofmann 12.02.2025

1.0

\\Netapp2\TuP\10_PM\40_Industriemesstechnik\CAD Solidworks Daten\TDS-A04_A05-B Adapterblech\

+0,5

-0,1
-0,3

 6
0 

 30° 

 2 

 1
6 

 201 

 7
1,

06
 

 1
5 

 2
2 

 38  81,5 

 100,5 

 50,75  99,5 

 7,5 

 186 

 4
7 

 6,5  
10

,5
 

 6
x

4,
5 

 2
6 

 5,2 

 186 

 4
,4

 
 6

,5
 

Abwicklung

Biegeradien frei nach Hersteller 

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

RZ  16


	1 Technical data
	1.1 Dimensions

	2 Scope of delivery
	3 Installation
	4 Appendix
	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht3
	Zeichenansicht4


